N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

L2 F L2 F Q
g .f g . g
20°F S10°F s
F <] E Q
F 2 F g
r = ke
10°F 1 £
E E 3102
E - E °10
10°F 1" 10°F
1071 F A S 10°F
Eoe oo b
10f--:- '."”?*i el 10g
T "i}m' AR N £
Rl . . .| —=—— DQM_mKFii_TTbase
I : ,| ———— DQM_mKFit_TT
24 . . v v v 0 v 0 T
SHEEE TR -
S S [ B A U A N DA A
—-25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
F L 2
L Q [=]
g S
3 g o
; & Si?
r =
10° 3

10 : : : : 10

Ratio
Ratio
Ratio

=30 -20 -10 O 10 20 30 =30 -20 -10 O 10 20 30 230 =20 -10 0 10 20 30 -30 -20 -10 O 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


